Algebra 1 EOC Review		                                                Name: ____________________________
EOC Practice Test #1
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10. Consider the following table that displays how long a person works at a particular job and how much they get paid per hour. 
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Part A: What type of sequence would this table represent?



Part B: Explain how you determined your answer in Part A. 
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Part C: Create an explicit rule that represents the sequence in the table. 





Part D: How much money would a person make, per hour, after 7 years?





image5.png
Which expression has the same value as the expression
(8X2 + 2x - 6) - (5%% - 3x +2)?

A 3-x-4

B. 3¢ +5x-8

C. 13¢-x-8

D. 13 -5x-4
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If the parent function is f(x) = mx + b, what Is the value of the parameter m for
the line passing through the points (-2, 7) and (4, 3)2

A -9
B -2
2
c. -2
2
p. -2
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A manager Is comparing the cost of buying baseball caps from two different
companles.

+  Company X charges a $50 fee plus $7 per baseball cap.
«+  Company Y charges a $30 fee plus $9 per baseball cap.

For what number of baseball caps wlll the cost be the same at both companles?

A 10
B. 20
c. 40
D. 100
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Use this graph to answer the question.

Which function Is shown In the graph?
A f)=x?-3x~ 10

B.
c.
D.
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Which function is modeled In this table?

1 8
2 |11
3 | 14
a4 | 17

A )

B. f(x)=

C. f)=2x+5

D. f(x)=3x+5
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A random group of high school students was surveyed. Each student was asked
Whether It should be mandatory for all high school students to participate in a
sport. The results are partlally summarized In the two-way table.

Agree Disagree No Opinion Total

Freshman

Sophomore 65 37 2 104
Junior 18 42 12

Senior 56 67 4

Total 158 375

In the freshman group, what percentage of students agree that It should be
mandatory for all students to participate In a sport?

A 14.1%
B. 22.6%
C. 53%

D. 73.6%
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To rent a carpet cleaner at the hardware store, there Is a set fee and an hourly
rate. The rental cost, ¢, can be determined using this equation when the carpet
cleaner Is rented for h hours.

c=25+3h
Which of these Is the hourly rate?
A 3
B. 3n
c. 25
D. 25n
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Which statement BEST describes the comparison of the function values for f(x)
and g(x)?

The values of f(x) will always exceed the values of g(x).

The values of g(x) will always exceed the values of f(x).

The values of f(x) exceed the values of g(x) over the Interval [0, 5].

The values of g(x) begin 1o exceed the values of f(x) within the Interval [4, 5].
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The graph of the exponential function f(x) = 4(0.5)" + 2 is shown.

y

5|

4

3

2 I~ -

4
32101234567

2

]

PartA
Which function has the same end behavior for large, positive values of x?
A g =411y +3

B. g(x)=0.5(1.1) +2

C. g()=4(0.8) +3

D. g(x)=0.5(0.8) +2

Part B
Select TWO functions whose graphs have a y-intercept of 1.
A hix)=5(2)"

B. h(x)=5(0.5) +0.5

C. hx)=(2)

D. h(x)=(0.5)+1

E. hx)=0.5(2) +0.5




